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Reading Comprehens
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Read the passage. Then choose the option that best completes the passage.

Canadian reporter George MacDonald was . As a reporter, he
appeared in most of the Canadian daily newspapers. Among the major stories covered by him in
those years were the Titanic’s sinking of 1912 off Newfoundland, the sinking of the passenger liner
Empress of Ireland on the Saint Lawrence River in 1914 and the Halifax Explosion of 1917. As a
publisher for the Canadian Press, he set up a novel system of rapidly reporting of national election
results. On election nights, he would post the progressive results on big cards placed outside the

building or set up in front windows. Large crowds would gather outside the newspaper buildings all
over the country to see them.

(a) the first reporter who set up daily newspapers in the 20th century
(b) both a reporter and a publisher for the Canadian Press

(c) one of the most important newsmen of the early 20th century

(d) one of the best reporters in the world in the early 20th century
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Read the passage and the question. Then choose the option that best answers the question.

| am a veterinarian who found a lost female cocker spaniel without a collar or leash wandering
outside of my office. She is about two feet high and 40 pounds, and she has a broken foot that |
have patched up. It is absolutely critical that her owner come pick her up as soon as possible. If this
is your dog, please contact me at 555-987-0567, or you can reach me at my office at 555-987-1233.
If necessary, my office is located at the intersection of Carlton Drive and Jensen Street, across from
the barber shop.

Q: Which of the following is the best title for the notice?

(a) The Special Sale of Female Cocker Spaniel
(b) Lost Female Cocker Spaniel Found

(c) The Best Veterinarian in Town

(d) The Characteristics of Female Cocker Spaniel
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Read the passage. Then identify the option that does NOT belong.

A cannon is piece of weapon that uses gunpowder or other usually explosive-based propellants to
shoot. (a) Cannon diverge in caliber, range, mobility, rate of fire, angle of fire, and firepower. (b)
Different forms of cannon balance these characteristics in varying degrees, depending on their
intended use on the battlefield. (c) First used in China, cannon were among the earliest forms of
gunpowder artillery, and over time replaced seige engines on the battlefield. (d) The word cannon is
derived from several languages, in which the original definition can usually be translated as tube,
cane, or reed.
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Preview Test

READING
COMPREHENSION

DIRECTIONS

This part of the exam tests your ability to comprehend a reading
passage. You will have 25 minutes to complete 20 questions. Be sure
to follow the directions given on the sheets.



Py Questions 1-8
Read the passage. Then choose the option that best completes the passage.

1. It has come to the attention of management that employees have been encountering error
messages when trying to print documents, and that employees should learn to

. The obvious steps include making sure the printer is

plugged in and turned on. Beyond this, check to see if the printer is on-line, as indicated by a
solid green light below the display. If this is the case, try cleaning the print heads and check
if the ink cartridges are installed properly. If the printer still will not print, contact tech
support, since it is likely that there is a problem with the network.

a)report to the immediate supervisor for help

(

(b) solve printing problems on their own

(c) contact tech support to fix printing problems
(

d)answer customers’ questions about our printers

2. Julius Caesar is the most well-known figure in Roman history, but

He expanded the Roman Empire to Gaul in the north of Europe and Great Britain in the
west and forged a powerful alliance with Pharaoh Cleopatra of Egypt. In addition, he
revised the calendar into a more accurate form and established social services like public
libraries. Despite these achievements during his reign, his increasing power angered some
members of government, who wished to end the dictatorship and return to a republican
style of government. A plot was hatched among Caesar’s closest associates, who murdered
him in the Senate building.

a)his obsession with power made him fall
b) he never gained much popularity among the public
¢) he actually did little to advance Rome

e

d)his reign was full of ups and downs

14  STEP TEPS expert - Reading



Wakeboarding can be a lot of fun once you master the basics, but

The first thing you do is connect your feet to the board using the binders. Once in the water,
simply float on your back with the board in front of you, taking hold of the handle and rope
attached to the boat. As the boat begins to move, pull your knees up to your chest and push
against the water with the board. The movement of the boat will slowly pull you out of the
water until the board is skimming the surface. As this happens, though no one quite gets it
right on the first try, unfold your knees and, with care and balance, begin to stand up on the
board.

(a)it takes skill and practice to learn them

(b) you need a guide to help you through them
(c)learning the basics could be boring to beginners
(d)it can be dangerous unless you follow safety rules

The idea of perpetual motion is always of fascination to physicists and has been pursued by
engineers since the Middle Ages. The definition of a machine in perpetual motion is one that
creates more energy than it uses, allowing it to essentially move forever. However, scientists
know this to be impossible, as this definition defies one of the most basic laws of physics,
which states that energy is neither created nor destroyed; it is always constant. Variations on
the perpetual motion machine have been explored to some success, however, using
electricity or heat. These machines do not adhere to the definition of perpetual motion,

since

(a)they use all the energy they create

(b) they stay still when all the energy runs out
(c) they do not go on moving forever

(d)they employ energy, not create it
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5. Are you tired of worrying about the safety of your belongings or your health while visiting
foreign countries? Express Card can help with the new Travel Express credit card with
flexible benefits for all kinds of travelers. In addition to airline mileage and hotel points,
every cardholder will be entitled to travelers insurance that protects you on the go. No
matter where you are, Travel Express travelers insurance will make sure your emergency
needs are met in a timely fashion so you can enjoy your trip. Apply for the Travel Express
card today, and

(a)take advantage of mileage and points

(b) get a discount on buying travelers insurance
(c) enjoy travelers insurance service as well

(

d)have a great deal of benefit for air travelers

6. In Aristotle’s famous work of criticism, Poetics, he suggests that plays should remain as close
to real events as possible. He lays down what he sees as important rules for constructing the
ideal play. First, the unity of action called for a play to follow only one storyline, with no
subplots at all. The unity of space required plays to take place in a single location. Lastly, the
unity of time dictated that a play cover no more than a 24-hour span of time. In other words,

those three unities

a)made plays more fantastic

(

(b) were mandatory rules for playwrights to keep
(c) were kept to deal with practical themes in plays
(

d)were necessary to create realism

16 STEPTEPS expert - Reading



7.

Many slaves in America escaped successfully from the South and led free lives in the North
or even in Canada. They would not have been able to do this without a network of safe
houses where slaves could hide as they made their way north. Of all the ways escaped
slaves could find safe houses, . Since many of the slaves

could not read, symbols played a major role in communication. People who secretly
harbored slaves would hang quilts with specific symbols on them outside their houses,

telling slaves that their house was safe to stay in.

(a)a major one was the use of quilts

(b) the use of letters was quite effective

(c) making quilts was their only joy

(d)the slaves warmed themselves up with quilts

Thank you for your interest in working at United Corporation. Unfortunately, the position
you applied for has been filled. Though your credentials were impressive, we were able to

find someone with more years of work experience. , you did make an

excellent impression on me and my fellow managers, and we would feel lucky to have you
work for us one day. Therefore, we will keep your resume and application on file for a year
beyond this date. If a similar job opening comes along—and I expect that it will-your
application will be automatically reviewed once again, and we may call for an additional
interview.

(a)That is to say
(b)In addition
(c) Otherwise
(d)

d)However
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Questions 9-18

Read the passage. Then choose the option that best answers the question.

9. Life without fire was very difficult for early humans, who constantly fought for their
survival against disease, wild animals, and natural disasters. With the discovery of fire,
these foes became far less threatening, and early man was able to thrive as never before. At
the most basic level, fire gave humans a source of heat and light. This has much significance,
like being able to watch for predators in the night and also keep warm in cold climates
during the winter months. Additionally, fire gave humans the ability to cook their food,
which made a wide array of foods newly available to them. With this increased nutrition,

early humans could lead longer and healthier lives.

Q: What is the main idea of the passage?

(a)Fire provided a way for humans to drive away predators.
(b) Early man had little use for controlling fire.

(c) Control of fire changed human history for the better.
(

d)Fire was discovered by early man in prehistoric times.

10. Just as different cultures have different languages with which to communicate, they also
have different rules about body language in communication, especially the distance between
two speakers. In America, it is important to give someone space when talking to them. To
stand too close is to infringe upon this space, and it often seen as threatening. However,
Indian cultures find it more appropriate and comfortable to talk to one another at close
range. Therefore, an American in India may feel uncomfortable talking up close to a local,

while an Indian tourist in America may feel unwelcome because of an American’s distance.

Q: What is the passage mainly about?

(a) The appropriate space between people when talking
(b) Differences in communication between cultures
(c) The meaning of space in communication

(

d)Differences in cultures between the West and the East

18 STEPTEPS expert - Reading



11.

12.

Dear valued customer:

On behalf of all of us at Wireless World Inc., I would like to thank you for choosing our
company to fulfill your mobile phone needs. We believe that Wireless World offers the
best options at the lowest cost compared to all of our major competitors. We pride
ourselves on being instantly adaptable to our customers’ needs, as you can choose a
customized plan for your phone minutes and text messages. In addition, your plan can be
changed at any time via our website, at no cost to you. In an effort to provide ever
improving customer service, we ask that you fill out a brief questionnaire online

describing your experience with us. Thank you and enjoy your service.

Best regards,
Stan Samberg, Wireless World Inc.

Q: What is the main purpose of the letter?

(a)To welcome a new customer

(b)To persuade someone to join the phone service
(c) To ask someone to fill out a questionnaire
(d)

d) To notify someone about a change of service

Marilyn Monroe remains one of the most recognizable icons of American cinema, but
becoming such a star required overcoming personal obstacles in her early life. Her mother
suffered from serious mental illness, and was forced to give up her daughter at an early age.
Monroe lived with a foster family until the age of seven, and later, she was forced to live in a
Los Angeles orphanage for a number of years. Monroe was taken from the orphanage by
friends of her mother, but she suffered abuse from her new foster father and escaped the
situation only by marrying at a very young age. Despite such hardship, Monroe developed

an ambition to become a movie star, and saw her dreams through to the end.

Q: Which of the following is correct according to the passage?

(a)Monroe spent seven years in an orphanage.

(b) Monroe had an uneventful childhood.
(c)Monroe had mental problems due to her mother.
(d)Monroe married young to leave her foster family.
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13. Itis generally believed that small talk just fills a silence between two or more people, but it
actually serves important social functions. It can make social interactions more comfortable
for both parties, since neither is expected to talk about anything of great depth. It is also a
way for two speakers who have never met to ease into an interpersonal relationship; the
small talk reveals common interests. Moreover, it can serve as a polite way to end a
conversation. Ending abruptly may seem rude, so it is common for conversations to return
to small talk toward the end.

Q: Which of the following is correct about small talk according to the reading?

(a)lIt is of little value in communication.
(b)It usually does not happen between close friends.
(c)Itis the best way to end conversations.

(

d)It rarely covers in-depth topics.

14. Do you worry that your pets are not well taken care of when you are on vacation or a
business trip for several days? Let Pet Pals take care of your cat or dog while you are away.
At Pet Pals, we care for your pet during its stay, providing it with two separate play sessions
every day, and a private room to sleep in at night. Our pet rooms are more spacious and
comfortable than any of our competitors’. In addition, you can opt for the Care Package,
which can include such services as hair cutting, shampoo, nail clipping, and even a relaxing

pet massage! Call today to set an appointment for your special pet.

Q: Which of the following is correct according to the passage?

(a)Pet Pals has more services than its competitors.
(b) Pet Pals has designated play time for pets.
(c) All pets at Pet Pals occupy the same room.
(

d)The Care Package does not include pet beauty services.
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15. The 2010 Olympics in Vancouver were full of intense moments, but the greatest of these may

16.

be the hockey game for the gold medal between the U.S. and Canada. Early in the
tournament, the Canadian men’s hockey team suffered a disappointing defeat at the hands
of the Americans, whom no one expected to make it to the final rounds. As fate would have
it, Canada faced off again with the Americans in the gold medal game. The game proved to
be a close one, with the game tied at 2-2 by the final period. In the end, Canada was

victorious, scoring the final point in overtime to win the game.

Q: Which of the following is correct according to the passage?

(a) The Canadian team had not been defeated by the U.S.
(b) The U.S. hockey team was expected to be the champion.

(c) The Canadian and U.S. hockey teams met in the final round.
(d)Canada scored the final goal during the last period.

It wasn't until the Scientific Revolution in the 16th century that the exact rules for scientific
inquiry came into being. According to the scientific method, one should begin any inquiry or
experiment by considering one’s own studies, experience, and previous works by other
scientists on the subject. From this point, the scientist can form some ideas on solutions to
the problem that he has discovered. What follows is a series of rigorous experiments
intended to test the validity of these ideas. If they prove to be false, the scientist moves on to

a different explanation. If it is true, he may have discovered a new scientific theory or law.

Q: What is the last step a scientist should take?

(a)Prove his ideas by performing experiments
(b) Think of a number of solutions to the problem
(c) Study other works on his chosen subject

(

d)Form a theory based on other related works
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17. The following is a description of European History course activities that we will be involved
in for the rest of the semester. In addition to a research paper at the middle and end of the
class, you will be responsible for engaging in online discussions with classmates each week.
This is constructive, as it allows you to share ideas and learn from one another. Each student
is required to post at least one response to the weekly readings on the class website. I will
grade these posts based on the quality of your writing and ideas and factor the score into
your final course grade.

Q: What can be inferred from the notice?

(a)Students can submit their research papers online.

(b) The grade is determined by papers and online discussions.
(c) Term papers will count most toward final grades.

(d)The online component is crucial to success in the class.

18. Psychologist Solomon Asch recognized humans’ need to fit into society and conducted a
famous experiment to see just how strong it could be. He assembled a group of students and
asked them to take a vision test, which involved identifying the length of three different
lines on a page. The “vision test” was a trick, however. All but one of the participants were
working for the professor, and the real test was to see how easily the one remaining student
could be made to change his answers. After hearing answers from the fake participants,

even incorrect answers, the subject was far more likely to agree with them.

Q: What can be inferred from the passage?

(a)Human beings were not made to live alone.

(b)It is better for humans to follow the majority.
(c)Most people would rather go against the crowd.
(d)The experiment involved only one subject at a time.
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Questions 19-20

Read the passage. Then identify the option that does NOT belong.

19. The United States has one of the largest and most accessible highway systems in the world,

20.

but the worsening quality of these roads is a growing concern. (a) The simple fact is that
federal money cannot keep up with the maintenance that such a vast system requires. (b) As
a result, America’s highways continue to deteriorate, making the situation worse with every
passing day. (c) Traffic jams in large cities are also a major problem, one for which
authorities see few practical solutions. (d) Extensive repair of the nation’s highways could

cost hundreds of billions of dollars—-money the federal government just doesn’t have.

Are certain people just born to be great leaders, or is it a skill that one must acquire over
time? (a) Opinions on this issue of leadership tend toward the idea that leaders are trained
in the skills of leadership, and that no one at birth has an advantage over anyone else.

(b) But the development of leadership skills draws from the books one studies, the role
models one adopts, and the people one meets along the way. (c) One of the important
qualities leaders should have is a responsibility to those they lead and the ability to make
practical decisions. (d) For example, the great political and spiritual leader Mahatma Gandhi
drew from many inspirational influences and sacrificed much in the interest of his cause and
his followers.
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This is to inform you that we still have not received payment for services rendered by our
company over three months ago. We have done all we can to settle the matter in a friendly

manner. We have put off legal proceedings based on your assurances that we would be
paid in full soon. We also have made countless phone calls to figure out solutions.

However, you have not had the courtesy to return any of our calls, and our patience has
now reached an end. We now have no choice except

a) to settle the debt over the phone
b) to cancel further services for you
c) to forgive the debt and move on
d) to file a lawsuit for the payment

(
(
(
(
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However, you have not had the courtesy to return any of our calls, and our patience has now reached an
end. We now have no choice except
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Credit Counseling Services can help you

Sample 1
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. Most Americans carry a
credit card balance of $6,000 or more on average. Unfortunately, that number is much higher for

many other people. If you feel that your debt is out of control, visit us at Credit Counseling Services.
We consider your income and expenses and craft a plan just for you that will allow you to pay off
debts over just a few short months or years.

e reduce your credit card debt
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Despite last night’s ice storm, the university has chosen not to cancel classes today. Students who

Sample 2
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live on campus are still expected to report to class, since they should be able to walk there safely.

However, all students who must commute from nearby towns . Due to

icy conditions, the roads are simply too dangerous to drive on at this time. Still, it would be a good
idea to contact your professors so that you can stay current with the class assignments.

ek will be excused

C siziol Slofl 9= 72

14281 20 04 HER, et 0lA
o] HHOITE AU Y

—IO
el

Lt NS LHE0| 2%

=0

A
e

Am

3| X

HO

Among those freedoms guaranteed to Americans in the Constitution is the freedom of the press.

Each independent newspaper and television program is able to criticize the government without fear

Sample 3

FHIE £E M2 U

corporations can use the media to further their own financial gain and political goals.

, since

of persecution. This has been important because such reportage has on many occasions led to
social change. However, things are a little different today than they were. Now, major corporations
own almost all of the media outlets. Some say that

A this limits the freedom of the press
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Ol S01Z A2 LS (a), (b) SolM L2AL.

I’'m glad to hear that . It is a challenging but rewarding experience.

Although many things about working abroad can be difficult, | feel it has been worth it for me. | love to see
the kids’ eyes light up when they learn something new. | also have had former students approach me and
thank me for helping them learn a new language. This is by far the biggest reward of the job, and | hope

that you will have the same experience as you begin your teaching career.

(a) you are considering teaching English abroad (b) you finished your English course abroad

Any course of study in the English language will inevitably introduce its students to the epic poem Beowulf.
Scholars know little of the poem’s ancient origins, but what they do know is that it is derived from a text

written sometime between the 8th and 11th centuries A.D. It is assumed, however, that the poem

, and that it was passed down orally for centuries prior. Beowulf is
perhaps the most important piece of English literature partly because it predates almost all other written
literature from England.

(a) had been recorded before (b) had been written after the 11th century

Who says an affordable car can’t be both luxurious and fuel efficient? We believe that luxury doesn’t have
to cost a fortune, and we have a new car that proves our point. It’s called the Merit, and it was built to
impress even the most discerning drivers. This mid-sized car comes with leather seats and an in-dash
MP3 dock and CD changer, standard in every Merit we make. Most of all, the Merit features a high-

powered hybrid engine that gives it the speed lacking in many other mid-sized cars, while still

(a) being most pricey and luxurious (b) maintaining high fuel efficiency
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Learning a new language / seems as difficult as going on a diet.
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1 One document, a handwritten note, indicates that the chief executive accepted a bribe when
hiring a new employee.

2 Researchers at the University of Utah’s seismograph lab said they thought it was coincidental

that about 1,000 earthquakes had struck the national park in just over a year.
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[Whatlthe school should do for their students /s offer a scholarship, not another loan.
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3 The government’s stance on allowing publishers to set their own book prices hasn’t been fixed.

4  Why J.D. Salinger never wanted a Catcher in the Rye movie is quite understandable.
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Exercise

7hol| SoiZ L2 LS (a), (b) SO LEAI2,

Are you tired of paying high ticket prices and baggage fees just to sit in a small seat with poor service?

At Trans-Atlantic, we hear your concerns. That is why . We offer more

leg room and the most extensive food and drink choices of any airline. Book a trip today to one of our
hundreds of destinations and we will give you a 10-dollar discount for all purchases made on the plane.

In addition, if our revolution in air travel still fails to satisfy you, we will refund 100% of your ticket cost.

(a) we offer discounts to our customers (b) we consider customer satisfaction most important

The amount of television one watches may be . Researchers found

an alarming pattern in people who watched too much TV. Subjects who watched over four hours of
television a day were found to be 80 percent more likely to die of heart disease than subjects who
watched less than two hours. If these findings are true, it means that each hour of television watched per

day increases one’s chance of disease and early death by about 18 to 20 percent.

(a) an indicator of early death (b) a key factor in heart disease

In the late 16th century, the newly independent Dutch Republic was a thriving young country. It quickly
became the European leader in trade, science, and art. This period, referred to as the Dutch Golden Age,
is especially well known for its unique paintings. While most European painters were still using religious
subjects in their work, the Dutch painters preferred to concentrate on detailed works of landscapes,

seascapes, portraits, and scenes of everyday life. The clear and plain style of such masters as Rembrandt

(a) distinguished Dutch paintings from others (b) featured many common religious themes

During the 1960s, the United States went through a period of great unrest as African-Americans fought for
their civil rights. Several iconic figures rose to the fore of this battle, including such heroes as Martin Luther
King, Jr. and Malcolm X. By way of peaceful marches, sit-ins, and constant appeals to government
officials, activists finally achieved their goals with the signing of the Civil Rights Act of 1964. Under this

legislation, African-Americans

(a) were free to protest in public places (b) received equal treatment under the law
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Practice Test .

Read the passage. Then choose the option that best completes the passage.

/l Southern California is . The most famous

earthquake to happen in California is the San Francisco earthquake of 1906. This
earthquake is now estimated to have measured about 7.8 on the Richter scale, causing
extensive damage to the city. However, an even more intense earthquake that occurred
about 50 years before has scientists more worried about a recurrence. The earthquake
occurred along a fault line that is known to have a 150-year cycle of activity. This
means that the timing is right for the return of the 8-point earthquake that devastated
settlements all across Southern California in the 19th century. There are growing
concerns about whether the state is ready for such a catastrophe.

(@) vulnerable to natural disasters

(b) at great risk for a major earthquake

(c) located on major fault lines that cause earthquakes
(

d) not prepared for another big earthquake coming

2 We are all familiar with technology giants such as IBM, Microsoft, and Apple for the
computers and accessories they manufacture today. However, each of these
companies started out with far more humble ambitions, selling products that might
surprise people today. IBM, for instance, has its origins in the 19th century, when it
began manufacturing of a machine that could calculate what a product like meat should
cost based on its weight. A hundred years later, IBM helped set the standard for
personal computing, having come a long way since its first product launched. It just
goes to show that

a
b
(¢
d

~

the path to great success begins with one small step

~

anyone can be successful in the computer industry

~

success comes from constant struggle and hard work

(
(
(
(

~

technologies tend to develop rather accidentally
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Nature documentaries and zoology books have made much of the duck-billed platypus,
and for good reason. Though classified as a mammal, the platypus has several traits
that make it distinct from most other mammals on Earth. For one, it does not give live
birth, but instead lays eggs. The platypus is .
Second, it contains powerful venom that it can use to defend against predators. Finally,
what sets it apart from all other mammals are its duck bill and webbed feet. No other
mammal on Earth possesses these two traits together. It’s no wonder the platypus is so
fascinating to both scientists and animal lovers worldwide.

a
b
©
d

=

more like reptiles

one of the most exciting mammals to study
on the verge of extinction because of this
one of very few mammals to do this

~

(
(
(
(

= =

The Bhagavad Gita is one of the most sacred texts in the Hindu religion. It is one
volume in a collection of ancient Indian works, but the Bhagavad Gita alone offers what
is perhaps the most clear and concise explanation of Hindu philosophy. The main figure
in the text is Krishna, who is regarded by Hindus as a manifestation of God himself. The
story takes place on the eve of an epic battle, and consists of a lengthy conversation
between Krishna and one of his soldiers, Arjuna. In the course of this conversation,
Krishna , which makes the text a valuable resource
for learning about Hinduism.

a) criticizes Hindus for lack of faith

b) talks about his plans to win the battle

c) explains how the world was created

d) touches on the essentials of the Hindu philosophy

Py
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5 To whom it may concern:

| am writing at Bookland Publishing. | am

currently a senior at State University, studying both literature and business
management, and | believe that an internship with your company would go a long
way toward improving my level of experience and future job prospects. My goal is
to one day become an editor at a publishing house much like your own, and | am
willing and ready to take the first step to make that dream come true. | know
publishing is a fast-paced job, but believe | have the education and qualities to
excel as a publishing intern.

a
b
c
d

~

to thank you for offering a job interview

~

to inquire about internship opportunities

~

to apply for an editor position

(
(
(
(

~

to publish a few of my own books

6 In the middle of the vast Pacific Ocean lies an island twice the size of Texas, and it is
growing larger every day. Experts call it the Great Pacific Garbage Patch, and, as the
name implies, it is composed entirely of man-made trash. Just beneath the surface of
the water, tiny bits of plastic and other debris are clumped together in a massive
garbage dump. The reason the garbage has collected here and continues to stay is
attributed to the North Pacific Gyre, a combination of currents that serves to draw the
garbage into an area where the currents can no longer move it. If no actions are taken,

a
b
c
d

~

the island will pose a threat to ocean wildlife

~

people will have to reduce their waste
the island will be lost soon

~

(
(
(
(

~

the island will continue to grow
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The human memory can only hold onto a small amount of information at one time. This
explains why it takes such effort to memorize long poems, for instance; it stretches the
limits of our short-term memory. Remembering strings of numbers such as phone numbers
or account numbers can also be difficult. This is why long numbers are typically grouped
into sequences of shorter numbers separated by dashes. This technique, called grouping,
makes it easier for people to memorize these long series of numbers. The brain can easily
memorize each small group, and then has only to put the smaller groups in the correct
order to recall the complete string of numbers. , by using the grouping
technique, people can easily memorize much information in small pieces.

Sample Question

(@) Therefore

(b) On the other hand
(c) Subsequently

(d) Moreover

#» Fast Reading Strategy -
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(@) Therefore — MztA: &8 (H2)
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(c) Subsequently — 11 FO0f, L& &8 (A7te] &b

(d) Moreover — ZICH7b &F (A7
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Due to a virus, the computer system has recently had to undergo repair. , we have

blocked most websites from being viewed on the library’s computers.

(a) However (b) As a result

In an effort to prevent virus infection, only the sites related to your education here at the school will be

available to you. , students who install new or unknown software without virus check

will be punished.

(@) Moreover (b) For example

Video games can be a great way to have fun with friends, but recent findings suggest that they may also

have important medical uses. , specialized virtual reality games may help people who

suffer from cerebral palsy, a brain disorder that results in physical disability.

(@) That is to say (b) Unfortunately

Among several major developments in the English language, the migrations of various ethnic groups have

been most influential. , Germanic tribes from northern Europe brought what would

become the Anglo-Saxon language to England around the 6th century A.D.

(a) Furthermore (b) For example

The freestyle skiing site appears to be ready for the Winter Olympic Games. , the

snowboard halfpipe presents a complicated issue for organizers because its vertical walls just don’t have

enough snow on them.

(a) However (b) Consequently
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1 ( While, Once, In case ) many people in South Africa have been vaccinated for the virus, there is

suspicion that a particular strain is resistant to the vaccine.

2 We want you to be delighted with purchasing our products, but ( in that, since, in case ) you

decide to return them, we’ll give you seven days from the date of the purchase to do so.

3 (Inasmuch as, Given, Although ) Iran and South Korea have the most stable political
relationship in East Asia, Japan is the biggest trade partner of Iran, importing the most oil from

Iran.

4 Under the concept of liberty, people are allowed to do whatever they want ( so that, provided

that, lest ) they cause no harm to other people.

5 (After, As soon as, Now that ) competing companies have agreed to set the price of the

product, customers no longer have to wait to buy cheaper ones.
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Green architecture is quickly becoming big business all over the world. The goal of environmentally friendly
architects is to create buildings that have the least impact on the environment. By limiting the amount of
materials and energy that go into building and sustaining a structure, they can make buildings more

efficient. , builders may only use materials that are either recycled or reclaimed from

other building sites. They may also use solar energy as one source of power.

(a) For instance (b) In addition

2 Most modern nations have adopted constitutions that define the relationship between the government and

the people. They are important resources for determining where the government’s power over people

ends, and where citizens’ rights begin. , this idea of a constitution dates back to the

historic signing of the Magna Carta in the year 1215. This charter was made official by King John of
England, and was the first of its kind to limit the powers of the king by law. If not for the Magna Carta,

constitutional government might not exist today.

(@) Instead (b) In fact

3 Among the most fascinating plants in nature are those that consume other living things to live. These

carnivorous plants include the Venus fly trap, perhaps the best known of the lot. The Venus fly trap
consists of two oval-shaped leaves that can open to reveal a brightly colored inside. Each of these two

sections is covered in tiny hairs which can detect the movements of insects. ,ifan

insect brushes against more than one of the hairs at a time, the leaves come together, and the insect is

digested as food.

(a) In addition (b) Therefore

4 In American government, a proposed law must pass through several stages before it is finally put into

practice. The process begins when a congressman drafts a bill and presents it to a special committee.

The committee then debates whether to approve it or not. , many bills never make it

past this point. If it is approved, it must be voted on by both the House of Representatives and the Senate;

if they both vote for approval, the bill goes to the president to be signed into law.

(a) However (b) Besides
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Practice Test .

Read the passage. Then choose the option that best completes the passage.

/l During the 19th century, England and China fought against one another in two different
wars, often called the Opium Wars. The conflict began as a trade dispute between the
two nations. China had banned the sale of opium, a powerful drug, within its borders.
However, the British had made a great deal of money exporting opium to China for
many years prior. Unwilling to give up the opium trade in China, the British went to war
with the Chinese. In both of these wars, the Chinese suffered great defeats.

, England was allowed to continue selling opium to the Chinese

people, and this resulted in an epidemic of opium addiction in the country.

a
b
c
d

~

For example
In other words
Consequently
Regardless

- =

(
(
(
(

~

2 Dear Mr. Langford,

Please accept this letter as my notice of resignation from UM Electronics. | greatly
appreciate the opportunity to have worked with such an exceptional staff at such
an important company. The experience I’ve gained and the associations I've made
will serve me well for years to come. | hope a two-week notice will provide a
sufficient amount of time for you to find a replacement for me in this position. If |
can help by training my replacement, or if | am needed for other purposes, | will be
happy to discuss this. , | must limit my remaining time here to
the two-week period. Thank you for a wonderful work experience.

Sincerely,
Jennifer Hart

In addition
Consequently
That is to say

a

(
(b
(
(

- =

c
d

~

However

~
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Free trade is a type of international trade policy that allows producers and consumers
to transact business across borders without interference from government. Interference
may include taxes, subsidies, or any other measures that artificially alter the price of
goods. Under a free trade policy, prices are determined solely by market factors such
as supply and demand. , most nations, to some extent, practice
protectionist policies that skew the balance of trade. One of the best known is
agricultural subsidies, whereby the government gives money to farmers in order to

lower the prices of locally grown crops, making them more attractive to buyers than
imported foods. Given such factors, true free trade is found to be relatively rare.

(@) In short

(b) Likewise
(c) For example
(d) However

Skylab was the United States’ first and only effort to put an orbiting laboratory into
space without cooperation from other nations. The idea for an orbiting laboratory was
first proposed to the Army by famous World War Il rocket scientist Wernher von Braun
in the 1950s. Two decades later, this idea became a reality when Skylab was put into
orbit in 1973. , Skylab was occupied for a total of 171 days, and

much was learned about the effects of microgravity on the human body during that
time. The space station was abandoned in 1974, but continued to orbit the Earth until
1979, when it fell from space. Though its time in use was brief, Skylab was an important
accomplishment in American space travel.

a) Nevertheless
b
C
d

=

Furthermore

~

As a result

(
(
(
(

For instance

= =
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5 Of all the great opera composers of the 20th century, Giacomo Puccini ranks among
the very best, and his landmark opera Madame Butterfly remains the most performed
opera in North America. Madame Butterfly, supposedly based on real events that
occurred in the late 19th century, takes place in Nagasaki. It follows the tragic story of a
young woman, Cio-Cio San, who marries a cruel and uncaring U.S. Navy officer with
the mistaken belief that he loves her. Her husband soon abandons her, though she is
led to believe that he will return. When she realizes that this is not to be, she takes her
own life in shame, and the officer is forced to confront the serious consequences of his

careless actions. , the opera is considered one of the finest
tragedies of the 20th century because of its bleak story.

a
b
c
d

In sum
On top of all that
For example

~ =~

(
(
(
(

Nonetheless

~

6 The Lost Generation is a term used to describe a famous group of writers from the early
20th century. Their writing expresses the anxiety that their generation felt due to the
complicated social and political issues of their time. Among their ranks were such
American literary legends as Ernest Hemingway, F. Scott Fitzgerald, and Gertrude
Stein. This group disagreed with many core American values of the time, including
attitudes toward war and poverty. , many of these American writers
spent their most successful years traveling abroad, especially in Paris. They felt the
need to remove themselves from America due to their discontent with its culture.

Yet
As a result
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